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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-VI « EXAMINATION — WINTER ¢ 2016

Date: 24-10-2016

Subject Code: 3360903

Subject Name: Power System Operation and Control
Time: 10:30 am - 01:30 pm

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
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Use of programmable & Communication aids are strictly prohibited.

Use of only simple calculator is permitted in Mathematics.
English version is authentic.
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Answer any seven out of ten. £2HIl SlEURL Ulctoll et .

Define P.U. system.
P.U. [422H HmAal.

What is meant by unit commitment?.

442 s[MzHe2 2124 9 97

List the different method for load flow analysis.
dls sell viifalu <l oy2l syel Hag vl

Define slack bus.

A5 ol YUl

List the different fact devices.
3523 Slaldy <l syl syel Hag quil.

Advantages of fact controller.
5523, 52142 <l 51451 oY RULAL
Define voltage stability.
qlezsy 22oildlZ] Ummal.

Define the dynamic stability.
sAHls 220{ldl2] uumal.

Define PQ bus.

PQ 614 A1MAl.

Write the equation of PU impedance Z(PU).
PU 211lé4 Z(PU). <, 43t dvil,

Derive the equation of per unit system.
U2 4efl2 [Hz2H, o Yot dlrAl.

OR

Write step to draw impedance diagram from one line diagram.

DIHULEA 1AM, HIl Ao ALl SIARLM 1AL HISAL Yl AV,

Derive the equation of complex power.
SIFUASH UIAR o Yol dlRdL

OR
Advantages of per unit system.
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() R Adlz (e Al siel QUi 03

(c) Explain load compensation. 04
(8) QS SUUAA HHAAL 0¥
OR
(c)  Explain transformer tap changer control. 04
(8)  ZLEIHR 24 AeorR 52l YUl 0¥
(d) Explain AGC. 04
(s) @@l Aumal. 0¥
OR
(d)  Explain the types of facts controller.Explain any two types. 04
(S) 552 5214R <l 6yEl 6YEl USIR SFRUALSISUBL 6 HHMAL 0¥
Q.3 (@)  Explain system compensation. 03

Ysl. 3 (L) [AReH s qumAl, 03
OR
(@) Explain series compensation. 03
@) Aoy U Aumdl, 03
(b)  Explain shunt compensation. 03
(() U2 SUA”A HHMAL 03
OR
(b)  Explain disadvantages of facts controller. 03
(W) 3524 52142 <AL ARgIAEL UHMAL, 03
(c)  What are the constraint of unit commitment? 04
(5)  aldz sMzHez Wiz ulmi g 9? 0¥
OR
(c) Explain the economical dispatch of power. 04
(5)  Osiidlsa (242 vz Al 0¥
(d) Explain load dispatch including transmission loss. 04
(s)  qls (32U 2 zieaslan di Aumal. 0¥
OR
(d)  Derive the equation of transmission loss formula Bi;, B1, B2, 04
(s)  zi-dlad i s19al By, Bip Bap, HIZ Y3 dIRAL. 0¥
Q.4 (@) Explain the transient stability. 03
Yl ¥ () 2ieiez w2oildlZ]l qumal. 03
OR
(@)  Explain the steady state stability. 03
1) 22l w2z 2eoildlEl qumdl. 03
(b)  Explain steam turbine speed governing system. 04
() 2Elu 2otiod 2ls a0l FazzH dHmdl, 0¥
OR
(b)  Explain Newton Raphson method. 04
(() <12 25 A YUl 0¥
(c) Explain GS method to obtain load flow solution for P,Q only. 07
()  P,QHI2 dls sdldl G5 HOAdL GS Has U1, 09
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Explain equal area criterion.
AUHLA A0 HIUES UHMAL

Explain factor affecting of transient stability.
2icai<2 220{ld|2ld 21U 5241 uRetn uHmAl,

Derive the equation for incremental production cost (neglecting losses).

D5lHe2d ULsAA 5122 < A AIRAL (Al A1)
Give the comparison GS & NR method.
GS i NR Ha 922 ueumpl s2i.
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